Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING — SEMESTER -V « EXAMINATION — WINTER- 2016

Subject Code: 3352904 Date: 25- 11- 2016
Subject Name: PRODUCTION PLANNING
Time: 10:30 AM TO 01:00 PM Total Marks: 70

Instructions:

Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.
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Q1 Answer any seven out of ten. €2Hill SleURL Ulclatl welled }L. 14
. Define denier count and write down formula for denier count.
1 SoflaR 81Geo{l cautvall AU wal 3o{laR 5162 Ul HZa] Y2

AL

2. Write down formulas of resultant count of direct and indirect yarn numbering
system.

2. 5lGoe ofl sluRse WAl BolslaRse Ul Hi AR 516G 2kl
Hi2oll Yo AW,

3. State denier count of 50° Ne.

3. uo Bacllal sleet 51Go2 ol 3o{lauR 51Ge2 QU

4.  State metric count of 40° Ne.

¥. %0 Salclal sleat 5162 oll Als 51Go2 wRUA.

5.  Define the term Reed Count.

U, 3LS 51Goe ofl catvaul ul.

6.  Define the term Heald Count.

5. 8les 51Ge2 ofl cavaul AL

7. Write down formula for English count.

9. ol s1Goe Al HER of YA Al

8.  Iftwo yarn of 40°Ne and 30° Ne are doubled together than find out its
resultant count.

¢.  40°Ne 3ol 30° Ne oll 2ol of SHAlol sclMl AUAD Al Asll uleul

uls Al
9.  Weight of 25° cotton count (Ne) is 2.5 grains than find out length of yarn.
¢. Ul all 5162 25 Ne ol ceel 2.5 Q8o sl cl ol ofl dotleS A,

10.  Weight of 75Km length of yarn is 2.5 Kilograms than find out its Metric
Count.

0.  9U SLHL colleS ol alel of cogat .U SLaL. Sl dl alel ol Adls
51Go2 QY.
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Calculate time required to exhaust one lap on carding machine from the
following data.

Lap length: 50 yards Draft between doffer and feed roller: 80
Doffer diameter: 27" Doffer RPM: 20RPM

Efficiency: 80%

ol Al WS uR Al st Hallet Hi As AU wIcll Ul Secl uHL
AL A L.
AU ofl e : 50 yards S182 Aal $ls AAR ARAe §ls2: 80

Ss2 ol stauHleR: 27 U SlsR WR.JLAX.: 20 RPM

psldllall : 80 %

OR
Calculate time required to fill up one can in carding machine from the
following data.
Doffer diameter: 27" Doffer RPM: 20RPM
Weight of card sliver:100Kg Hank of card sliver: 0.016
Tension draft between doffer & coiler cal. Roller: 1.08
Efficiency: 80%

o(lAoll HGlAl U &l stslor Hellot Hi As 3ot GRAAL el AHA
AL A .

SIgR ol stauHleR: 27 6 SlgR R ULAM.: 20 RPM

518 EAUBAR of aeel :100 SLOUL. 518 U8R do8: 0.016

S1$2 ol SlTAHR EAeS AU cARall So2lel $LS2: 1.08
sslllacll : 80 %

Calculate No. of spindle of speed frame and No. of draw frame required for
the production of 1000 Kg of Roving per shift from the following data.

Speed frame department:

Spindle speed: 1000 RPM Hank of roving: 1.35 TPI: 1.3
Draft: 8 Efficiency: 80% waste: 0.5
Draw frame department:

Speed: 400 YPM No. of delivery: 2 Efficiency: 80%

As Alse i 1000 Lol Aot of Geutest sal 1R Fec Uls U
Wlosct WA 32l Q-3H ASA A o{lA{l HElAl w2l 0.

Speed frame department:

Spindle speed: 1000 RPM Hank of roving: 1.35 TPI: 1.3

Draft: 8 Efficiency: 80% waste: 0.5

Draw frame department:

Speed: 400 YPM No. of delivery: 2 Efficiency: 80%
OR

Calculate required No. of Ring frame spindle and Speed frame spindle for
production of 2000Kg of 30s carded yarn per shift. Assume suitable data.

30° ol 51Go2q] Ws 2ls2 Ui 2000 Sl Geuleat Aoclall M2 d2cll
Aot 51 AWosA A Jectl 2Uls 3H oA HSA A . 2Ll
H2 A0 det widl Al
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Calculate time required to fill-up one can in drawing frame from the
following data.

Speed: 600YPM Weight of draw slivers in can: 12 Kg
Efficiency:85% Hank of draw sliver: 0.15

ol Ao(l HISlAl U ol Q-3 Ui A5 Jot ARAA F2A AHA AL A
.

Speed: 600YPM Weight of draw slivers in can: 12 Kg
Efficiency:85% Hank of draw sliver: 0.15
OR

Calculate time required to exhaust one can on speed frame from the following
data.

Spindle speed: 800RPM TPI: 1.2

Weight of sliver in can: 10Kg Hank of draw sliver: 0.15

Draft between FR and BR: 10 Efficiency:85%

(LAl HIELA uR ol 2Uls-3H Hi A5 Fol WIEl Ul Sl uHA

ALl A .

Spindle speed: 800RPM TPI: 1.2
Weight of sliver in can: 10Kg Hank of draw sliver: 0.15
Draft between FR and BR: 10 Efficiency:85%

Calculate No. of Combing machine and lap former required to produce
2000Kg of combed sliver per shift from the following data.

Comber Machine:

Nips/min: 250 Feed/nip: 0.25" No. of head: 8
Noil % : 10% Hank of lap for comber:0.0102 Efficiency: 85%

Lap former machine:
Speed: 80 YPM Efficiency: 80% Hank of lap:0.0102

As Alse 1l 2000 SLoUl. S116s REABAR of Geuleal sall HI2 B2cll
SR Hellot Aol 3ecl AU SR ASA A o{lAell 1l uel 0.

sl H2lst:
Nips/min: 250 Feed/nip: 0.25" No. of head: 8
Noil % : 10% Hank of lap for comber:0.0102 Efficiency: 85%

AU SR Halet:

Speed: 80 YPM Efficiency: 80% Hank of lap:0.0102
OR

Calculate No. of carding machine and blow room line (scutcher) required to

produce 2000 Kg of card sliver per shift. Assume suitable data.

As Alse 1l 2000 SLoUL. 818 RAUBAR of Geuleat sall HIZ F2cll
s1SToL Hallot WA 6EAL 3H ALBet (RSUR) BEFA A L. dlRLA3l 1R
2o 32l Uil Al

Calculate time required to exhaust one Ring bobbin on winding machine from
the following data.
Count: 40 Ne Speed: 1000 YPM Efficiency:80%
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Weight of yarn on Ring bobbin: 100 gm

(LAl HIElA uRell cteSoslot Hallot Hi As oL clellot viel Ul
2l AHAL AL A 0L

Count: 40 Ne Speed: 1000 YPM Efficiency:80%
Weight of yarn on Ring bobbin: 100 gm
OR

Calculate time required to build one cone on winding machine from the
following data.

Speed: 1200 YPM Weight of cone: 2.5Kg

Count : 40 Ne Efficiency:80%

(LAl HIElA uRell ctefosot Hallot Hi As Slot HRAA 32 AHL

AL A k.

Speed: 1200 YPM Weight of cone: 2.5Kg

Count : 40 Ne Efficiency:80%

Calculate weight of warp and weight of weft in a given piece of fabric from
the following data.

TL: 110 yards PL: 100 yards RS: 50"
Weft count : 50Ne Warp count: 50Ne Picks/inch: 80
Reed : 76° selvedge : ¥4 inch on both side

No. of Ends/dent: 4 for selvedge and 2 for body fabric
o(lAe{l flotcdl uRell wAA Folls LAl AU ual Age of cogat 2.

TL: 110 yards PL: 100 yards RS: 50"
Weft count : 50Ne Warp count: 50Ne Picks/inch: 80
Reed : 76° selvedge : ¥ inch on both side
No. of Ends/dent: 4 for selvedge and 2 for body fabric
OR

Draw lay-out plan for the following machines. (any Two):
(1) 10 Cards (2) 20 Air-jet looms  (3) 10 Ring frames

ol Aotl HAlAl HIZ A-3UG2 ERL(S1ES ULl Q)
(1) 10 Cards (2) 20 Air-jet looms  (3) 10 Ring frames

Calculate the production of loom in meters from the following data.

Speed : 750 RPM picks/Cm : 60

Efficiency : 85 % working hours : 24

o(lAe{l flotcdl uRell ¢H of Geuteot Hl2R ui 0.

Speed : 750 RPM picks/Cm : 60

Efficiency : 85 % working hours : 24

Calculate the production of sizing machine in Kgs from the following data.
Speed : 50 MPM Efficiency : 50% Count : 10 Tex
Working time : 24hrs Total ends : 3960

o(lAe{l flotcdl uRell eoflor Hellot of Gautest slow. Hi .
Speed : 50 MPM Efficiency : 50% Count : 10 Tex
Working time : 24hrs Total ends : 3960

A fabric is composed of 25 Ne weft yarn and 40 picks per inch; a 25 Ne
warp yarn with 42 ends per inch than calculate the cover factor of the fabric.

A5 s1US o{lAcl flolAl Ul e B Al Aof sAAR ¥522 ML
Ase 51Go2:25Ne Wl PPI:40 , AU 51Go2:25Ne Wl EPI:42
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